Assignment 7

Due Nov. 3rd, 2008 before class.

=======================Part 1 (no submission is required)======================

Practice makes perfect.

Do and understand all exercises in Chapter 7 of Benoit Boulet’s book.

==================Part 2 (Handwritten and submission are required)================

7.1 Exercise 7.4 of Boulet’s book.

7.2 Exercise 7.8 of Boulet’s book

7.3 Consider the system characterized by the differential Eq. 
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(a) Determine the zero-state response of the system to the input x(t)=e-4tu(t).

(b) Determine the zero-input response of the system for t>0-, given that 
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(c) Determine the output of the system when the input and the initial conditions are the same as given in (a) and (b).

(d) Indicate the transient response and steady-state response of the output obtained in (c )

7.4 Determine the signal i(t), the current in the following circuit, using the unilateral Laplace transform. At time t=0, the switch is turned on 2 from 1, and the voltage source e(t) =Aeit u(t). Please indicate the transient response, steady-state response, zero-input response, zero-state responses of i(t).
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